
9. Fantasia Albert de Rippe?
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2) Note one course lower in orig.
1) c in orig. Same in bar 18.














 














  









 














































35 








 






 






     

























 
















































40 












































 































 













 
















    










45






































 
























 

  




















50 
















 
















 

























































55



























































 










 

 







 

















 





60

1)







































































  






  


















-2-

1) Note indistinct. Could be a on 1st course


